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18R RRes 98,008 98,008 0
LeARgey 98,098 98,098 0
144 64,498 64,498 0
L34H] 64,408 64,498 0
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PN R R R 33,600 33,600 0
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4 wral el 2019-11-04



20193MA = A& o AL A A

= - ' A P )
o 27 93 ] (g A
2 § £

DR A AT A AN A 4,780,008 4,780,000
X 14] % 1:= '
)R AGET ol =4  30,000,0009 30000000
X 14]-11= o
E)AE R Al =4 50,000,000 X 14] 50000800
X1lul= ’ i
DEE A ZEA] (2,076,0009 <15 20,704,000

2. M E7w) 166,220 10,305, 185,924\ 141y - 10.436,000= T
SradddEayg NETY 52,0008 5,220,000
X10% X 1= '
L)) EgEolH =4 EE 32,500,000 130,000,000
R X 4% X Lil= ’

1,422,867 1,136,358 286,449

5 ahsjal 1 2019-11-04



